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p. 22 According to Koster et al. [4] the compatibility relations between
the irreducible representations of Oj and T, read:

On Ta
i - Iy
Iy — I
I 47 — I

;_ — I 5
Iy — 17y
rF — T

Accordingly, Table 3.1 should read:

Table 3.1. Symmetry classification of the bands in the extended Kane model
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p. 41  The third line below Eq. (4.10): ... the number of states per unit
energy range +dFE and ...

p. 41  Eq. (4.11) should read:

D(EB) = i% %N(E) = Z/ éf)g 3[E = Eao(ky)] - (4.11)
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p. 41  Eq. (4.13) should read:
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p.- 43  First paragraph Sec. 4.4: Citation numbers corrected

... Most publications on the calculation of Landau levels in 2D hole sys-
tems have restricted themselves to the axial approximation (see Sect. 3.6) to
Luttinger’s 4 x 4 k - p model [7,8]. In [38], the split-off valence band I'¥ ...
Few publications [23,37,41,42] have analyzed Landau levels beyond the axial
approximation. ...

p. 46  Eq. (4.31) should read (sign reversed)

YaNe(r) = Z ’Ln =N —m, — %> gf:”(z)uno(r) (4.31)

p. 46  Eq. (4.32b) should read (sign reversed)
Vopo(r) = > o Y |IN—my—2) €0V (2)uno(r) . (4.32b)
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p- 54 End of second paragraph: If expressed in a basis of eigenstates of J,
all four eigenstates of J, and J, are a mixture of both HH and LH states.

p. 63 Eq. (5.10) should read (opposite sign for Darwin term)
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p. 66 Eq. (5.13) should read

P2 (2k2— (¢/h)o - B k2+(€/h)‘7'B>} Ve (5.13)
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p- 71 Footnote 2 should read: Strictly speaking, even for the diamond
structure only Ty but not Oy, is a subgroup of the space group. The reason
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is that the diamond structure has a nonsymmorphic space group with point
group Op, i.e. the symmetry operations in Op must be combined with a
nonprimitive translation of the translation subgroup of the diamond structure
in order to map the diamond structure onto itself. Nevertheless, ...

p. 82 Eq. (6.23) should read (prefactor corrected)

y6cbe _ _ieP2 [Z (calz|ls)(lgltz]ca) — (caltz|ls)(ls]2|ca)
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p- 94 Eq. (6.43c) should read (overall sign reversed)
ph_ 3 3 {<ha|z|h6><lﬁ|kz|ha> — (halt:|ls) (hp|z|ha)
a = hh AR
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Eq. (6.44) should read (signs reversed)
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Eq. (6.45) should read
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p. 116 A minus sign is missing in the
body of Fig. 6.17 (only in the printed version
of the book).

p- 118 Two minus signs are missing in
the body of Fig. 6.18 (only in the printed
version of the book).

ki—Ak/2 Ki+Ak/2

p. 140 Eq. (7.14a) should read:
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p. 140 Eq. (7.15) should read (factors 2 missing):

=6 (2— 3sin’0) sinf V4 — 3sin® 0

X \/(IC — Go)’sin?0 + (K — G3)* cos2 6, (7.15a)
Jiiey = —6(2—3sin®0)sin’0 K€ - Gy| . (7.15b)

p- 142  First paragraph:

The values u; = ug = 1/2 correspond to a parabolic QW. For the rectan-
gular QW we have uy =1 and us =0, ...

p. 146  Eq. (7.19a) should read (several signs reversed):
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. 146 Eq. (7.19b) should read:
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. 147 Eq. (7.20) should read (several signs reversed):
zZHH m i o (m2 —6) — _ 2T (7.20)
(001 = \ 7252 275 16y + 407, | '

. 147 Eq. (7.22) should read (up’s added)

7—[%‘(1)511] =z g (Bwkgaw — Bykgoy) + 22 g (Bmkgaw — Bykioy)

+ 228 up {ky, ky } (Byow — Bzoy) (7.22)

. 147  Eq. (7.23) should read
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zi8™ = 3ky3Z1 — 673 (12 +73) 22 (7.23c)

. 147  Eq. (7.24) should read
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p. 147 Eq. (7.25) should read
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p. 152  Eq. (8.3) should read:
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p. 167 Two minus signs are missing in the body of Fig. 8.12 (only in the

printed version of the book).

p. 187 Eq. (9.14b) and Eq. (9.14¢) should read:
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P- 202 A minus sign is miss-
ing in the body of Fig. B.1 (only
in the printed version of the
book).

p. 203  Equation (B.13) should read

HO [¢,) = By, [¥n) (B.13a)
Hppr = (Un|HY + H|thyr) (B.13b)

where n,n’ € {m,1}.

p- 209 In Table C.2, T}, should read
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p.- 210 Table C.3(c) should read (see above the corrected Table 3.1.):
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p. 210 Table C.10 should read (prefactors v/2 added)
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